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a) and (b) are related.

3. Solve. Use words, numbers, or pictures to explain how your answers to Parts (

a. 45x30= \1350 b. 45x30= L' 5 tenths x 30 = ‘3-5
45 ones H5 tendhg
X30 X 30
1250 | [[350 tenths

45 ones Gre 10 M b?gﬁif“wﬂmlr\/\sg Therefore. +he
Onswer To 45 x30 will b 10+fmes bigger Hhoh 4.5 K 30,

4. Multiply using the standard algorithm. Show your work below each problem. Write the product in the

blank.

a. 60i4x33= ‘7’ ?53 b. 645x4[O;: g\@/! 39‘5
(oo 45
K33 X 405

18 2 2226
|81 30 000 0
SNEAEE + 258000
Qb ), a5

5. For a field trip, the school bought 45 sandwiches for $6.60 each and 38 bags of chips for $1.25 each.

‘wSHOW much did the school .f,pendjn all? ) o e
5623 oo 51,25 RT1.06 v
- X 45 X 3% + 41.50 chps
2260 3598 $3445 0 Tohl
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